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AH 02 had a meeting in the morning of March, 30th; chairman of AH 02 was Seppo Hamalainen  (Nokia)  while Andrea De Pasquale (Omnitel) acted as secretary.





The meeting covered the following issues:


definition of the macro to micro cell scenario (HCS scenario) in the description document (R4-99136)


Handling of Downlink power control maximum power


editorial changes to the description document 


discussion on simulation results


Discussion on a  new ACIR model proposed by Nokia 


Acceptable capacity loss





Definition of the macro to micro cell FDD coexistence scenario





Nokia proposed a model based on a macro cell layer made of 7 macrocells (with 577 m cell radius) and a microcell layer made of 72  microcells; the details of the cell deployment are included as an Annex to this document.





Nokia clarified that the proposed approach was chosen in order to model the soft-handover in the macrolayer. 


Answering a question from Amer El-Saigh (Vodafone) on item 4 of the annex, Seppo clarified that in the macrolayer the noise rise was measured only in respect with the central cell because it was the only macrocell overlaying the micro layer. 


Seppo also clarified (Amer’s question) that the system loading as defined in the Annex  was proposed to take into account the different capacity of the layers.


Amer asked if the HCS case considered was referred to layers belonging to the same operator or different, and Seppo answered that this should not make any difference


Conclusion


It was concluded to accept Nokia’s proposal as a working assumption, although some more time was allowed over the reflector to make comments 


�






DL maximum power handling





The proposal from Nortel (included in R4-99136) was discussed.


Comments were made regarding the necessity to reevaluate the actice set at each PC step if Nortel proposal would be accepted.


Eric Georgeoux (Nortel) clarified that this proposal was reflecting the real behaviour of an analog attenuator.


Harri Lilja (Nokia) proposed to apply Nortel’s concept without decreasing common channel power.


Eric asked some clarification on how the active set was defined.


Harri suggested that the ACIR results would’nt change


Mr. Ishikawa (NTT DoCoMo) proposed to apply Nortel’s concept without attenuating, when needed, common channel power


Conclusion


Nortel proposal was accepted, provided that DL attenuation (when needed) would be applied to traffi channels only





Editorial changes to document 136


Harri clarified that the number of cells in the macrolayer shoudl have been equal or higher than 19 (and not higher only).


Seppo suggested to update figure 2 and 3 according to the agreed HCS model; NOKIA will provide the new figures





Discussion on simulation results





The following documents provided simulation results at WG4#3





Doc 115 (NTT), 129 (Nokia), 125 (Lucent), 93 (Ericsson), 137,138 (Motorola)





Seppo asked to first try to identify (when possible) the reasons behind some differences in the simulation results.


During the discussion the way of evaluating the number of users per cell, number of cells, difference in the random distribution of users in the system - same number of users per cell, or random placement in the system - were suggested as possible reasons for some differences.





Mr. Ishikawa clarified that the absolute number of users quoted in doc 115 was obtained interpolating the obtained results  


All companies clarified (andrea’s question) thay used the agreed Uplink loading proposal.


Amer observed that conclusions drawn on the basis of the presented results could be different  from those suggested in some of the documents.





In order to more easily compare the presented results, Edgard Fernandes (Motorola) produced some first graph comparing the obtained capacity losses and average value obtaiable from the losses themselves.


Amer observed that  Motorola Uplink results were more in line with the expected results.


Edgard suggested that a possible reason could be some rounding criteria applied by Motorola on the average number of user per cell.


Ericsson suggested to try to understand the differences amongst the results rather than looking at the average values; he also commented that Ericsson results were in line with past submission by Ericsson.


Chris Shepherd (Mitel) asked if any sensitivity analysis was carried, but the answer was negative due to the short time allowed to perform simulations.


Andrea asked the number of snapshots used, and it was clarified that the agreed number was used in almost all simulations (apart from NTT, although the obtained results were very similar to others)


Edgard observed that the presented capacity figures (apart from the results from Ericsson) were quite similar to each other, at least for speech service


Seppo suggested to produce graphs related to the data case as well.


Andrea also reminded that before drawing a final conclusion the HCS case had to be investigated (due to potential higher losses in the microlayer)
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Discussion on a  new ACIR model proposed by Nokia (doc 129, annex)


Seppo proposed to introduce a new ACIR  modeling based on typical amplifier behaviour as proposed in the Annex of document 129; he clarified that the modelled case was considered by Nokia a conservative one.


He also proposed to discuss the results obtained with such a model.


Amer observed that the choice of the most conservative mdel would be preferable


Bernhard Raaf (Siemens) agreed with Nokia proposal, although it was considered even too conservative


Amer asked if  any UE ‘s PA implementation would lead to a similar behaviour.


Chris commented that this could be not taken for granted due to possible different implementation (e.g. to decrease the power consumption)


Amer then replied that if this behaviour could not be guaranteed, it would’nt be acceptable to define any ACIR value based on this modeling.


Following some questions, it was clarified by Seppo that the modeling was proposed for the Uplink only


Andrea pointed out that the modelling would be acceptable if the PA behaviour proposed by NOKIA for the simulations were included in the specification as a minimum PA requirement for all Ues;  he also suggested to keep discussing the results obtained with the agreed model.





Conclusion


It was pointed out that the modelling would be acceptable if the PA behaviour proposed by NOKIA for the simulations were included in the specification as a minimum PA requirement for all Ues





Acceptable capacity loss


Seppo asked to try to define which capacity loss should be considered acceptable by the ad-hoc to define the ACIR values.


Amer suggested a value not higher than 1 %


Edgar judged the suggested value too tight when related to the absolute number of users capacity.


Andrea replied that 1 % value seemed a reasonable one


Daniele Franceschini (CSELT/Telecom Italia) also agreed with the proposed 1 %


Harri did not agree with the proposed value.





Chris reminded that the ACIR choice would have an impact on PA efficiency 


Amer observed that the Grade of service had to be guaranteed for the users since UMTS should deliver a high quality of service, and that 1 % is a widely used value 


It was commented that this loss culd be seen as a pure capacity loss rather than a decrease in the grade of Service.


Operators then clarified that the capacity loss has a strong  impact on the required number of sites, and that in many countries it is already very difficult (even for today’s GSM) to find sites in the city.





The ad-hoc was closed due to the lack of time.





Conclusion


No final conclusion was achieved on the UL results (the discussion was postponed to the plenary) also given the lack of results on the new agreed HCS scenario.


Edgard will produce an update version of compariosn graphs for the subsequent (March 31st) day.








Open points on the description document


deadline for comments on the proposed HCS scenario


exact DL Eb/N0 figure for the additional  nonTX  or RX diversity case (4 or 5 dB)
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1.	Hierarchicall cell structure cellular scenario





As it was pointed out, the HCS cellular scenario previously proposed by Nokia make macro cell radius very small. Here a new proposal is given:





1. Deploy micro cells as it was proposed earlier (72 BSs in every second street junction, block size 75 meters, road width 15 meters)





2. Number of macro cell base stations is set to seven. Macro cell radius is 577 meters (distance between BSs is 1000 meter).





3. Center of macro cell network is set to same position as micro cell network center. Then the middle most macro cell base station covers micro cell network.





4. When simulating, noise rise is measured from all micro cell base stations, but only the center macro cell.





5. When measuring performance of network, all micro cell base stations are taken into account, but only the center macro cell BS is considered when macro cell performance is measured.








2.	Text change to TSGWG4#3(99)136 related to HCS





In the text there is sentence "that is made for multioperator case and applied also for HCS". Since number of users per cell is different for macro and micro cells, and since number of micro cells is much higher than macro cells, a text change is needed. Proposed text change is





For each UE, the operator (or hierarchy layer in case of multi operator simulation) is selected randomly, so that the number of users per base stations is the same for both operators. (or hierarchy layers).


For each UE, the hierarchy level (in case of hierarchical cell structure simulation) is selected randomly, so that probability for macro cell is equal to 





Pmacro =(Cmacro / (Cmacro + Cmicro)) * (Mmacro / (Mmacro  + Mmicro)), 





where Cmacro is capacity of macro cell in terms of users/cell (simulated single operator macro cell capacity), and Cmicro is the corresponding  micro cell capacity (simulated single operator micro cell capacity), Mmacro is number of macro cell base stations (72) and Mmicro number of     


      micro cell base stations (7). Probability for micro cell is Pmicro = 1 - Pmacro.

















